	Greater Wor Serv			B+N Tractor Mowing Annan Landsca							аре Со.			
Vendor's City & State:	Orlan	do,	FL		St.	Clo	ud, FL		Altamonte Springs, FL					
Description	Unit	Quantity	Item	Unit Price		Total		Unit Price		Total		Unit Price		Total
Standard Lot Cleaning Services: Lots up to and including 15,000 square feet	SqFt	1,800,000	1	\$ 0.01	\$	18,000.00	\$	85.00	\$	153,000,000.00	\$	0.004	\$	7,200.00
Standard Lot Cleaning Services: Lots 15,001 Square Feet and greater	SqFt	600,000	2	\$ 0.01	\$	6,000.00	\$	85.00	\$	51,000,000.00	\$	0.004	\$	2,400.00
Basic Lot Cleaning	Cycle	12	3	\$ 750.00	\$	9,000.00	\$	50.00	\$	600.00	\$	735.00	\$	8,820.00
Basic Lot Cleaning: Cost for an additional lot of up to and including .25 acres	Cycle	12	4	\$ 80.00	\$	960.00	\$	40.00	\$	480.00	\$	30.00	\$	360.00
Basic Lot Cleaning: Cost for an additional lot of .251 to .5 acres	Cycle	12	5	\$ 100.00	\$	1,200.00	\$	40.00	\$	480.00	\$	50.00	\$	600.00
Trash and Debris Removal	Cubic Yd	1000	6	\$ 34.50	\$	34,500.00	Ī		\$	50,000.00			\$	40,000.00
Additional Edging	Linear Foot	800	7	\$ 0.25	\$	200.00	\$	15.00	\$	12,000.00	\$	0.03	\$	24.00
Underbrush and Tree Skirting	Hour	10	8	\$ 20.00	\$	200.00	\$	85.00	\$	850.00	\$	25.00	\$	250.00
Fallen Trees: 12" – 15" in diameter	EA	5	9a	\$ 75.00	\$	375.00	\$	650.00	\$	3,250.00	\$	75.00	\$	375.00
15.1" – 20" in diameter	EA	5	9b	\$ 75.00	\$	375.00	\$	650.00	\$	3,250.00	\$	100.00	\$	500.00
20.1" – 30" in diameter	EA	5	9с	\$ 75.00	\$	375.00	\$	650.00	\$	3,250.00	\$	200.00	\$	1,000.00
30.1" – 40" in diameter	EA	5	9d	\$ 75.00	\$	375.00	\$	650.00	\$	3,250.00	\$	400.00	\$	2,000.00
Fill Delivery	Cubic Yd	30	10	\$ 30.00	\$	900.00	Ī	120.00	\$	3,600.00			\$	900.00
Grading of Dirt	SqYd	50	11	\$ 40.00	\$	2,000.00	\$	120.00	\$	6,000.00	\$	30.00	\$	1,500.00
Removal of Dirt	Cubic Yd	50	12	\$ 50.00	\$	2,500.00	\$	120.00	\$	6,000.00	\$	25.00	\$	1,250.00
Tire Disposal Fee	EA	100	13	\$ 3.50	\$	350.00	\$	6.00	\$	600.00	\$	3.00	\$	300.00

	Greater Works Property Services				B+N Tr	acto	r Mowing	Annan Landscape Co.						
Vendor's City & State:	Orlan	FL		St.	Clou	ıd, FL	Altamonte Springs, FL							
Description	Unit	Quantity	Item	Unit Price		Total	Unit Price			Total	Unit Price			Total
Hourly Labor	Hour	100	14	\$ 10.00	\$	1,000.00	\$	85.00	\$	8,500.00	\$	25.00	\$	2,500.00
Calculated Total:					\$	78,310.00			\$	204,102,110.00			\$	69,979.00
Vendor's Total:					\$	78,310.00			\$	57,768.30			\$	69,979.00
Discount Payment Terms:				5%-30 Days									_	
Visa ePayable? (Yes/No)						Yes				No				No
Secondary Supplier? (Yes/No)						Yes				Yes				Yes
Addendum No. One (1) Acknowledged:						Yes				Yes				Yes
Addendum No. Two (2) Acknowledged:						Yes				Yes				Yes
Bidders Certification Signed & Notarized:						Yes				Yes				Yes
Contract & Acceptance for Solicitation:						Yes				Yes				Yes
Bidder's Questionnaire Attached:						Yes				Yes				Yes
Equipment List Included:						Yes				Yes				Yes
VBM Certification:						N/A								
M/WBE Certification:						N/A								
Expiration Date:						·								
Original & Number of Copies:				1 Original & 1 Copy				1 Oriç	& 1 Copy	1 Original & 1 Copy				

		Industrial Mainte		_	Premier Lawn Maintenance, LLC					D3 Enviroscape, LLC					
Vendor's City & State:	Orlando, FL					Longv	d, FL	Orlando, FL							
Description	Unit	Quantity	Item	Unit Price Total		Total	Unit Price		Total		Unit Price			Total	
Standard Lot Cleaning Services: Lots up to and including 15,000 square feet	SqFt	1,800,000	1	\$	0.02	\$	36,000.00	\$	0.03	\$	54,000.00	\$	0.004	\$	7,200.00
Standard Lot Cleaning Services: Lots 15,001 Square Feet and greater	SqFt	600,000	2	\$	0.02	\$	12,000.00	\$	0.05	\$	30,000.00	\$	0.005	\$	3,000.00
Basic Lot Cleaning	Cycle	12	3	\$	1,470.00	\$	17,640.00	\$	2,100.00	\$	25,200.00	\$	2,478.00	\$	29,736.00
Basic Lot Cleaning: Cost for an additional lot of up to and including .25 acres	Cycle	12	4	\$	300.00	\$	3,600.00	\$	100.00	\$	1,200.00	\$	375.00	\$	4,500.00
Basic Lot Cleaning: Cost for an additional lot of .251 to .5 acres	Cycle	12	5	\$	400.00	\$	4,800.00	\$	150.00	\$	1,800.00	\$	475.00	\$	5,700.00
Trash and Debris Removal	Cubic Yd	1000	6	\$	55.00	\$	55,000.00	\$	15.00	\$	15,000.00	\$	45.00	\$	45,000.00
Additional Edging	Linear Foot	800	7	\$	1.25	\$	1,000.00	\$	0.09	\$	72.00	\$	0.04	\$	32.00
Underbrush and Tree Skirting	Hour	10	8	\$	65.00	\$	650.00	\$	30.00	\$	300.00	\$	25.00	\$	250.00
Fallen Trees: 12" – 15" in diameter	EA	5	9a	\$	200.00	\$	1,000.00	\$	400.00	\$	2,000.00	\$	65.00	\$	325.00
15.1" – 20" in diameter	EA	5	9b	\$	300.00	\$	1,500.00	\$	500.00	\$	2,500.00	\$	130.00	\$	650.00
20.1" – 30" in diameter	EA	5	9с	\$	400.00	\$	2,000.00	\$	800.00	\$	4,000.00	\$	225.00	\$	1,125.00
30.1" – 40" in diameter	EA	5	9d	\$	500.00	\$	2,500.00	\$	1,500.00	\$	7,500.00	\$	475.00	\$	2,375.00
Fill Delivery	Cubic Yd	30	10	\$	28.00	\$	840.00	\$	60.00	\$	1,800.00	\$	45.00	\$	1,350.00
Grading of Dirt	SqYd	50	11	\$	1.25	\$	62.50	\$	50.00	\$	2,500.00	\$	30.00	\$	1,500.00
Removal of Dirt	Cubic Yd	50	12	\$	18.00	\$	900.00	\$	60.00	\$	3,000.00	\$	40.00	\$	2,000.00
Tire Disposal Fee	EA	100	13	\$	7.50	\$	750.00	\$	10.00	\$	1,000.00	\$	5.00	\$	500.00

	Industrial Mowing & Maintenance				Premier Lawn Maintenance, LLC					D3 Enviroscape, LLC						
Vendor's City & State:	Orlando, FL				Longwood, FL					Orlando, FL						
Description	Unit	Quantity	Item	n Unit Price Total		Unit Price Total		Unit Price			Total					
Hourly Labor	Hour	100	14	\$	65.00	\$	6,500.00	\$	35.00	\$	3,500.00	\$	35.00	\$	3,500.00	
Calculated Total:						\$	146,742.50			\$	155,372.00			\$	108,743.00	
Vendor's Total:						\$	146,742.50			\$	155,172.00			\$	108,743.00	
Discount Payment Terms:								2%-10 Days								
Visa ePayable? (Yes/No)							Yes				Yes				No	
Secondary Supplier? (Yes/No)							Yes				Yes				Yes	
Addendum No. One (1) Acknowledged:							Yes				Yes				Yes	
Addendum No. Two (2) Acknowledged:							Yes				Yes				Yes	
Bidders Certification Signed & Notarized:	'	1					Yes				Yes				Yes	
Contract & Acceptance for Solicitation:							Yes				Yes				Yes	
Bidder's Questionnaire Attached:							Yes				Yes				Yes	
Equipment List Included:							Yes				Yes				Yes	
VBM Certification:											N/A				N/A	
M/WBE Certification:											N/A				20126397	
Expiration Date:													·		07/31/2016	
Original & Number of Copies:					1 Origina	I & 1	Сору		1 Origin	al & ′	I Сору		1 Origin	iginal & 1 Copy		